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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This questions paper contains 37 questions. All questions are compulsory.
(it)  This question paper comprises six sections — Sections A, B, C, D, E and F.
(iti) Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

(iv) Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

(v)  Section C — Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

(vi) Section D - Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(vii) Section E — Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

(viii) Section F — Question no. 37 is map-based, carrying 5 marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(x) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)

1. Match Column I with Column II and choose the correct option.

Column I Column II

1. Union List 1.  Agriculture

ii.  State List 2. Computer Software

iii.  Concurrent List 3.  Banking

iv. Residuary Subjects 4. Education
Options :
(a) 1-3,ii—1,ili—4,iv—-2 (b) i-4,ii-3,iii—2,iv—-1
(c) 1i-2,ii—4,iii—-3,iv-1 d i-1,ii—-2,iii—3,iv—4

32/2/3 3> B P.T.O.
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2. fIfafgd ¥ 9 sH-a1 ‘@19 AR 99° S9H k1 38 8 ?
(a) HRd (b) EIH TsT STHIGHI
(c) dfcemm d T

3. @ ®eE, IR (A) 3 FHRO (R) % &9 § few mw & | a1 weEl i ufen
3R Tl fomhed &1 w=[ ST |

S7YFIT (A) : ey T 3794 giga™ d§ IR 9R) gnud e |
FRU(R): GG g+t ol Ueh & <9 H Ueh 919 @4 H G&H o9 o 9w 9 |

(a) AMMHAT (A) 3T SR (R) ST Tl & FW SR (R), AR (A) I
g ST LAl 2§ |

(b)  SAfTHA (A) 3T HRU (R) THI T&l &, T RV (R), AMHeT (A) H
e SRS gt il g |

(c)  ANTHAH (A) HEl B, =g BRI (R) TAd 7 |

(d) 3w (A) TeId 8, 9 RO (R) TE 7 |

4. ry [ 1 Tadm @@y [1 8 HIfu 3R 98t faemeq 1 === hifse |

&ey [ &7ey I1
(77) (9%R)
i. HISAl 1. 949 9o
i, geg 2. o ¥ o g awE
iii.  foRmETeTm 3. ogaw U
iv.  hicTehral 4.  TIAFAT gIftd & oG
(debldd Y-
farepem

(a) i-4,ii-8,ii-2,iv—1
(b) i-2,ii—1,iii-38,iv—-4
e i-2,ii—4,ii-1,iv—3
d i-1,ii-2,ii-4,iv—3
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2. Which one of the following is an example of ‘coming together federation’ ?

(a) India (b) USA
(c) Belgium (d)  Spain
3. There are two statements given as Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) : Belgium amended their constitution four times.

Reason (R): Amendments were to enable everyone to live together in
the same country.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

4, Match Column I with Column II and choose the correct option.

Column I Column I1
(Port) (Type)

1. Kandla 1. Riverine port
ii.  Mumbai 2.  Deepest landlocked port
iii.  Visakhapatnam 3. Biggest port
iv. Kolkata 4. Port developed after
independence
Options :

(a) i-4,ii-8,ii-2,iv—1
b) i-2,ii-1,iii-3,iv—4
¢ i-2,ii—4,ii-1,iv—3
d i-1,ii-2,ii-4,iv—-3
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5. 2 %YF, AR (A) 3R RO (R) % &4 § U 7w § | IFf el =1 ufen
3 T8t faemed 1 =—F hIfST |

YT (A) : N AT AN TH-GR & T 7 |
FRU(R): < H falfieh fohE SISAT qo1 T 39eE 6l e

I 2 |
(a)  ITYHI (A) 3 SR (R) THT T@l & 3 SR (R), AR (A) hI
g U1 hdl & |
(b)  SANTHAT (A) 3T HRU (R) THI T& &, T BRI (R), AMMHeH (A) H
HE! AT FgT Hdl 8 |

()  HAfWHIA (A) W&l 8, Trg H (R) T & |
d) fpEE (A) A 8, TR SRV (R) T 2 |

6. fafafea # @ +-H g 3= qoEE R Ffys avf arer &= § fyefea

B 7 2
(a) T 3R dieht (b)  hIeAl
(c) Tl d) e
7. = feu 7o fuz = 2fgw | o # o U aftss wifgcae) & AW W ggEnAT
3R Tl foshed 1 == HINT |

IEETR IR

(a) 9 HreT @ (b) TSI Tt A

(c) ST Soe®an (d) TR wErEr
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5. There are two statements given as Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) : Agriculture and industry move hand in hand.

Reason (R): Industrial development is a precondition for eradication of
unemployment and poverty from the country.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

6. Which one of the following soils develops in an area with high
temperature and heavy rainfall ?
(a) Red and Yellow (b)  Black
(c) Alluvial (d) Laterite

7. Look at the picture given below. Identify the name of the senior

litterateur shown in the image and choose the correct option.
r— — -]

Options :
(a) Ram Mohan Roy (b) Raja Ravi Verma
(c) Lakshminath Bezbaruah (d) Gangadhar Bhattacharya
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qie: FHEfcTRaa go7 Fac1 giEaTaa el & g 397 G891 7 & T&H W/

g/
frfaRea o ¥ S TAWiR o 9@ @ ?
(a) Bf. &1.3T. SR (b) .4 IfER
(c)  <AIfaam Bt (@ | AR T
8. 1920 % v H fAfaiRad o & fre w1 1 wewqUl foeivaT ‘§8d 3Icared
o off ?
(a) EIH TT AR (b) Uis
¢ %E (@ STUE

9. Yom fova gg # iy weA @ Hefyd Fefaiea & @ @8t fashed &1 <=
it
(a) ST, SATTEATET 3T 3w qohl
(b)  TorA, ®E 3R &F

(¢c) 3eAl, UM 3R &4

(d) i, AMI-FR 3R ==
10. 1815 H Adifersd i BR @ a1g JUIE TR ffiiiaa § & fopm wiamn @ i@

off ?

(a) HHINEIG
(b) ®lgarg
(c)  3QNAIg
d) ®OHER

11. ffafea 3 @ wF- deeieton 6t o FHd 2 2
(a) ¢ SR d g

(b) 3 Sfawr d ugd

(c)  HAUEH well B
(d)  SAgUEH g B
EIHE
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Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 7.

Who among the following is the writer of ‘Gulamgiri’ ?

(a)  Dr. B.R. Ambedkar (b) E.V. Periyar
(c) Jyotiba Phule (d) Ram Mohan Roy
8. In which one of the following countries was ‘mass production’ an

important feature in the 1920s ?
(a) United States of America (b) Poland

(c) France (d) Japan
9. Choose the correct option from the following regarding Central Powers in
the First World War :

(a) Germany, Austria-Hungary and Ottoman Turkey
(b) Britain, France and Russia

(c) Italy, Japan and Russia

(d)  France, Austria-Hungary and China

10. Which one of the following ideologies were the European Governments
driven by after the defeat of Napoleon in 1815 ?

(a) Socialism
(b) Conservatism
(c) Liberalism

(d) Romanticism

11. Which one of the following is a challenge of Globalisation ?
(a)  Access to New Markets
(b)  Access to New Talent
(c) International Recruitment

(d)  Disproportionate Growth

32/2/3 <9 >
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12. Tafafga sl aferm 1 wa-Er 9 v &5 9 R k1 fhad

Tfa=Td Ted shidl @ ?

(a) TRIE 9NER (b) A IREYRT 91l IHER
(c) HHg UNaR (d) HR giEr
13. Tfafad & @ ®H-H sty €9 6 HE g ?
(a) IS o I (b) TH = fEws
(c) dial & Tk (@ did % e

14. f=faRea § 9 S92 smEnfed &9 & e foaxwar g 2
(a) TSR <hl 37afy fafia gt 2 |

(b) N % 9T gHfTed M gan g |
(c) 3T T Mu=Ties Ufshan wa sRIfafy g |
(d) T R fafw ga 8 weg 391 uTed 8 gt & |

15. SThideh IcdGl ol 3 U1 H qiEfad fpam ST Hhaamdl g :
(a)  TTH 3UTE (b) fedfiuer 3cure
(c)  qcideh 3c9Tq d) =g I

16. T TS ATleTehl 1 HETTH hifwT TR I\eh =1 T T 97 1 I faifaw -
FY 2019 ¥ 77 YR 37K 39% TIF] 39 & P& 3he

| Tohdd TS T | o9 o a0 | foermerft et | fava o ama
(@.7.31.) gfd sk Ul | Y 2599 AT | ook R
AR efer 3y 309 AfgH (HDI) %1
(2011 Sh3 TR &9 AT (2018)
sfictent 12,707 77 10-6 73
I 6,681 69-7 65 130
™R 4,961 671 5-0 148
qTiehea™ 5,005 67-3 5-2 154
BRI 3,457 70-8 50 143
EIESIEH 4,976 72:6 6-2 134
frfcrfaa <o ® @ foreeht ‘AT foehtd F=ehieh (HDI)' o & T @ ?
(a) W (b) AT
(c)  oficehr (@ AU
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12. Which one of the following categories of urban households take the
highest percentage of loan from the formal sector ?

(a)  Poor households (b) Households with few assets
(c) Well-off households (d) Rich households
13.  Which one of the following is the modern form of currency ?
(a)  Paper notes (b) Gold coins
(c) Silver coins (d) Copper coins

14. Which one of the following is a feature of the unorganized sector ?
(a) Terms of employment are regular.
(b)  People have assured work.
(c) They have some formal processes and procedures.
(d)  There are rules and regulations but not followed.

15. Natural products being changed into other forms is known as :
(a)  Primary product (b) Secondary product
(c) Tertiary product (d) Quarternary product

16. Study the given table and answer the question that follows :

Some data regarding India and its Neighbours for 2019

Country Gross National Life Mean Years | HDI Rank
Income (GNI) per | Expectancy | of Schooling | in the world
capita (2011 PPP $) at birth of People (2018)
aged 25 and
above
Sri Lanka 12,707 77 10-6 73
India 6,681 69-7 65 130
Myanmar 4,961 67-1 50 148
Pakistan 5,005 673 52 154
Nepal 3,457 70-8 5-0 143
Bangladesh 4,976 72-6 62 134

Which of the following countries has the highest level of ‘Human
Development Index (HDI) ?

(a) India (b)  Bangladesh

(c) Sri Lanka (d) Nepal

32/2/3 11> B
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17. To® wam i qfd % fow @3 foshed 1 =@ ST |

fova o g <O sl ol i o ToTg Iehi o gl
fafersear wweft St 2 |

(a) frem (b) ™

(c) EETET &M (d) Sl &)

18. fefciRga oeii # € fope Sggeiy SHeRT i IR B 2
(a) EIH TT R (b)  ¥Rd

(¢ =M (d) ITses fomen

19. f=foiea Tsai 4 9@ sH-a1 &9 e g Iidd @ 2
(a) g (b) AT U
(c) anfesm (d) TIEH

20. fr=fafgd &= 7 9 frad g Sfiaa 4 afganstt i vrer Afterds 8 2

(a) it g (b) TE Hooh
() I o (d) TR W
LCLCRC)
(atfa wg 3T wed) (4x2=8)

21. (%) 3 % TCWN ol Thishd i ATel QI oh Hqcaehdl &I Hal L
e 1 forgety KT | 2

AAAT

(@) e A o gF U9 § IERATE! TG o O i W@ hifee | 2

22, ARfyd R Gfdrd 9 # 37w Tuse I | 2
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17. Choose the correct option to fill in the blank.

For comparing countries, their is considered to be one of the
most important attributes by the World Bank.

(a) Education (b) Income

(c) Health Status (d)  Living Standard

18. Which one of the following countries adopted multi-party system ?
(a) USA (b) India
(c) China (d)  United Kingdom

19. Which of the following States is ruled by a regional party ?
(a) Haryana (b) Madhya Pradesh
(c) Odisha (d) Rajasthan

20. In which one of the following regions is the participation of women in
public life the highest ?

(a)  Nordic countries (b)  Arab states
(c) European countries (d)  Asian countries
SECTION B
(Very Short Answer Type Questions) (4x2=8)

21. (a) Analyse the role of Chief Minister Cavour who led the movement
to unite the regions of Italy. 2

OR

(b) Examine the ideas of liberal nationalism in Europe during the

nineteenth century. 2

22. Differentiate between reserved and protected forests. 2

32/2/3 13>
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23. 1956 H #HIhIs AHA! ohl ARISAT T 9§ 75 ? I ShIT | 2
24, TgI % YA A FEg-afma H fhd YR e o1 fean 2 3gren |fgd wase

HIT | 2
Qug T
(1T o) (5x3=15)
25. (%) 9 H ggur fond TR Stfedea § I 2 e Hifw | 3
aroran
(@) ol a% 989 A8 B § fhH TR e hi T 75 HEhid forefed
T3 ? AT HINT | 3
26. WA H ‘GleEREA dlE-3aEh & f fhel dn faviwarsn & samen
HITT | 3x1=3
27. =l div waufis yraumi it s men Hife it awa # Th ity T
A 3 | 3x1=3
28. WA H AT USHTR 1 Goid ¥l Bl Fhal § ? IGEWN Fgd T hHIMT | 3
29. WRA H I &A% % 9¢d Hegw hl T hHIT | 3
Qug "
(S zwdar wea) (4x5=20)
30. (%) “mremn et o foRl ofR TEUW i @UREN &% SR H aETHY wegl A
1ot TS off |7 39 A hl gite HifT | 5
reran
(@) “T= B THIE B b T TR A B TS TH AR A
fewrg fean |” 39 e i gfte T | 5
31. (&) 3 ufifeafaat =1 fagamor Fifse S0 ererartes e szt gmrises
fafaearett & amee wenfua et 2 | 5
areran
(@) 37 uitfeaf 1 faveivn Hifse S8 drerarte e et FrTfep!
I T 3R SATAET 1 FEET <t & | 5
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23. Why did the feeling of alienation increase among the Sri Lankan Tamils
in 1956 ? Explain. 2

24. How does the use of money make it easier to exchange things ? Explain

with examples. 2
SECTION C
(Short Answer Type Questions) (6x3=15)
25. (a) How did print come into existence in Europe ? Explain. 3
OR
(b)  How did access to books create a new culture of reading ? Explain. 3

26. Explain any three characteristics of ‘Durg-Bastar-Chandrapur iron-ore
belt’ in India. 3x1=3

27. Explain any three constitutional provisions that make India a secular
state. Ix1=3

28. How can more employment be created/generated in India ? Explain with
examples.

29. Examine the rising importance of the tertiary sector in India.

SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) “Plantation workers had their own understanding of Mahatma
Gandhi and the notion of Swaraj.” Support the statement. 5
OR
(b)  “Mahatma Gandhi found salt as a powerful symbol that could
unite the nation.” Support the statement. 5

31. (a) Analyse the conditions under which democracies accommodate

social diversities. 5
OR
(b)  Analyse the conditions under which democracies promote dignity
and freedom of citizens. 5

P.T.O.
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32. (%) YRAH AR¥eh Sifoeh Farg R afvisas Hiv 61 fomivareT i =men
HIT | 2+3=5

reran
(@) WRA ¥ e Sifeshl Ta AU Y I ToRIVATST 6l AT HINT | 2+43=5

33. (%) YA STfeewel W ITHHT o JHTEl 1 foaveiwor i | 5
Jrra
(@) WA T IYEeRiUl ol =AFETd S o AU foheal qrer U o1 foagetor
T | 5x1=5
Qe ®
(SFE-SATITRE T ) (3x4=12)

34. feu U €q ol fey 3R 38k = fou g wedi & I fafaw .

T8 gfEnsrett w38 Stfeerdy sttt 39k Ievat 4 fawd g1 91 W R |
Ig Teh Tagaqn & 2 Tor S oy =g e & fau s9e S @ 39 S |
qADe THT B4 ¥ o oG AT T hI0UT 9 ITd & | ATk I9T B hl <3m |
¥¢ 91y ff 3 IR 91¢ 0 § 3% Wd & | AU Ugl g T a¥ 2006 ®
HERIse 3 ToR 8 9R 991 & gH aidl d SIS U S hl g d o916 hi
feufd oM o foshe 1 78 | 59 oG € A had IH AR ATA HT JHEH gA
HUg F8q T W Ja1 e i g3 | 974 o JAH W qADe FHT B 1 37
Izt 8 fop a8 dor®e S fop T Urhiae It @ &g % HaHl o A&l ugedl
TStk shreor g foefieneor <61 wead sregdl & | 7 i A S | fop wg-3eef
AT b HRUT Y 3 <hl FHIEAT Wl ¢ ATl g IR AR S b ITAT
A FA-fa Sffer, woe § fHen-wta dafat o sy Hed € |

(34.1) oA H A& R o faeg 1eieH w1 9m fofau | 1
(34.2) 3TcAReh I8 B hl o3 U I(Uhal sg 1Y fohd YhR o1 =01 o
3ITHA &d B ? 1
(34.3) 9533 A ARSI < fohrgl QI ATl o1 forweiwor HfT | 2x1=2
32/2/3 B

Get More Learning Materials Here : & m @&\ www.studentbro.in



32. (a) Explain the features of primitive subsistence and commercial

farming in India. 2+43=5

OR
(b)  Explain the features of intensive subsistence and plantation

farming in India. 2+43=5

33. (a) Analyse the impact of globalisation on the Indian economy. 5
OR

(b)  Analyse any five steps for ensuring fair globalisation in India. 5x1=5

SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

Most of the objections to the projects arose due to their failure to
achieve the purposes for which they were built. Ironically, the dams that
were constructed to control the floods have triggered floods due to
sedimentation in the reservoir. Moreover, the big dams have mostly been
unsuccessful in controlling floods at the time of excessive rainfall. You
may have seen or read how the release of water from the dams during
heavy rains aggravated the flood situation in Maharashtra and Gujarat
in 2006. The floods have not only devastated life and property but also
caused extensive soil erosion. Sedimentation also meant that the flood
plains were deprived of silt, a natural fertiliser, further adding on to the
problem of land degradation. It was also observed that the multi-purpose
projects induced earthquakes, caused water-borne diseases and pests and

pollution resulting from excessive use of water.
(34.1) Name the movement against the river project in Gujarat. 1

(34.2) How have the big dams mostly been unsuccessful in controlling
floods at the time of excessive rainfall ? 1

(34.3) Analyse any two merits of multi-purpose river projects. 2x1=2

32/2/3 7>
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35. feu T &g i gfey 3R 39 = feu e ywai & I fofeu

TEt fava g a6 sfanfies T dim @1 | 3¢ 3w faeipa 1€ Rl
9 = @ off | fofew wR@™@ a1 & F&@ S [ B 6 U g qadh
3cUTed | o¥%d 9 U WY H BF<EX o HIAT ol TR A B T | R
S9! TARId U fouma et IR i ™ | Ig @ Re=n af 9™
@M § ft B & o e & FifEl, wifvE & fow ad & #ug, 3 3
TS % d, U1 T T I S JAT 9gd AR 3T AHH 4 T | A HREH
T T | T HREM &3 Aol § I o | 980 TR 7T T9gl i HH |
T@T TR 3TN e hl Ugal & ot SIS THY qeh hIH AT ISl oA | g o HIA
SfEnfies Icqred oSt 9 9T |

g o 91¢, A IR § B<EX i Igal alct! afeea st gifee 181 &l
Rl | g o SIG YRR 7 L I IR ST, THA T SIIH 6 Jhlea
HHAIAR T AT o HRUN sl 1 Fefezeredn =eaqq T3 off | U™ I Icde 954
H T§ T A1 3N fordT | 8 et Gt hUs b I H Seiesd TREe 3% |
Iufesn § foceft IcaTgl ot TATHT T H SRe IR 9T Hhesll ohl

o ot efit-efit roft ferfa ostega o ft |
(35.1) WRA § H-<I%et o HIA o1 TTATA A FAT gl T 2 1
(35.2) 9em fova Ig & 91g ARAT 9 T A= I g aref! afiaa st

i g T8l 8l 18 ? 1

(35.3) ¥ fova Ig @ WA sl BH aTal fohegl g eyl 1 fovemor i | 2x1=2

36. 1T T EIA ! Uley 3N e A= ST T Tl % I fAf

TSHiTdeh el ol 3¢ YAt 9T YT AlehdlHieh sda%dl % IHR
Y ST ] | g9 UG Ib & foh ag HMI o foe faffeca snemfia drevas i
SELd BT 8 | 96 GO 9 3R Af’d B W 7 a9 3o (Ofd e W
AAT-ITAT Tl ol FHSA TR WHR hl /7 § dH & fau fomd) qreem =
Qﬁ?ﬁ?ﬁwﬁé |ﬁﬁaw@ﬁm9ﬁﬁfﬂﬁﬁwa%uﬁdwd
Fidl 3 qTfeh Teh TFHER TThR AT TS 8 Ueh | 3 GThT hl AT i a1 39
W AP W@, Al sam iR Aifwi &1 wmeA sreren foig w % fog
3YHIUN hl T Bt & | Ideh SfaHig-swehr i tH s Y Sed sl s,
TSI o 39! G0 hUd & | 39 T8 &9 8 Hehd @ 1 TSHITdeh ol Alehd

i Th AR T & |
(36.1) “TaHIfaes g’ o 319 ol Tqse HifST | 1
(36.2) “TeHifder aell o 3T UldHTeed W INUTRT Alehditieh TG & 3IUR
% 1Y ST 8 |7 38 HH i gie FhifT | 1
(36.3) TSHITdh a1 Tl AThd™ hl Teh AR I & ? TIL hIfNT | 2
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35. Read the given source and answer the questions that follow :

Yet, till the First World War, industrial growth was slow. The war
created a dramatically new situation. With British mills busy with war
production to meet the needs of the army, Manchester imports into India
declined. Suddenly, Indian mills had a vast home market to supply. As
the war prolonged, Indian factories were called upon to supply war needs:
jute bags, cloth for army uniforms, tents and leather boots, horse and
mule saddles and a host of other items. New factories were set up and old
ones ran multiple shifts. Many new workers were employed and everyone
was made to work longer hours. Over the war years industrial production
boomed.

After the war, Manchester could never recapture its old position in
the Indian market. Unable to modernise and compete with the US,
Germany and Japan, the economy of Britain crumbled after the war.
Cotton production collapsed and exports of cotton cloth from Britain fell
dramatically. Within the colonies, local industrialists gradually
consolidated their position, substituting foreign manufacturers and
capturing the home market.

(35.1) Why did Manchester imports decline in India ? 1

(35.2) Why could Manchester never recapture its old position in the
Indian market after the First World War ? 1

(35.3) Analyse any two benefits of the First World War to India. 2x1=2

36. Read the given source and answer the questions that follow :

The rise of political parties is directly linked to the emergence of
representative democracies. As we have seen, large societies need
representative democracy. As societies became large and complex, they
also needed some agency to gather different views on various issues and
to present these to the government. They needed some ways, to bring
various representatives together so that a responsible government could
be formed. They needed a mechanism to support or restrain the
government, make policies, justify or oppose them. Political parties fulfil
these needs that every representative government has. We can say that
parties are a necessary condition for a democracy.

(36.1) Explain the meaning of a ‘political party’. 1

(36.2) “The rise of political parties is directly linked to the emergence of
representative democracies.” Support this statement. 1

(36.3) Why are political parties a necessary condition for a democracy ?
Explain. 2
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QU o
(wrfer SitvTe seTfa uea) (2+3=5)

37. (%) WNA % fgu MU TSHITdS WA (I8 23 W), | & T A 3B
w9 ¥4 cyfu U g | ffafaa et i ggrar @ 39 98 am 3k

Tfly i 73 et W fafen
i) o8 TH & foorer, 1920 ¥ WRA TS il &1 AfyasH
7T | 1
(i) % TAM &I SAlCraiaTar SN HeAT 83 | 1
(@) 9Ra & g UoHifae W@rams @ Feafafgs & @ 6 a7 &
I Togl @ guifsy 7R 3 AW fafeu : 3x1=3

(i) TSN — AT TS UTh
(i) SATNSHAT — AB-TTEh hl TH
(it)) ARG — T sl G

(iv) Bfeqdn — EHg qoA

FIg:  FHERIET J97 FIT gIRETd GAemdal & 1o7g ¥97 &7 37 & T T/

g/
fa5=87 it 3971 & I T | 5x1=5
(37.1) 39 ®M 1 49 fafgy J&f foary, 1920 4 9™ TS HEE 6
HfaTH g3 |

(37.2) 38 TAW 1 TW faRay SEl Sferaiaran s Hed 83 |

(37.3) WA o ikl o fohelt Teh TT@ IcUTEh T ol AW fafEu |

(37.4) 38 TSY 1 M faRgu S8T Saifsen dg-3%h 6l @ 8 |
(37.5) 38 TF &l 9 feifgu gt arRIge wmm] ot 2 feda 2 |
(37.6) 3I° USA 1 M TaIRIT gl sfeean aqg! 9a1 &@ 3 |
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SECTION F
(Map Skill Based Question) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :

(1) The place where the session of the Indian National Congress
was held in December, 1920. 1
(ii))  The place where Jallianwala Bagh incident occurred. 1

(b)  On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Noida — Software Technology Park

(ii))  Bailadila — Iron-ore mines

(iii) Tarapur — Nuclear Power Plant

(iv) Haldia — Sea port

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37.

Answer any five questions. 5x1=5

(37.1) Name the place where Indian National Congress session took place
in December, 1920.

(37.2) Name the place where the Jallianwala Bagh incident occurred.
(37.3) Name any one major coffee producing state of India.

(37.4) Name the state where Bailadila iron ore mines are located.
(37.5) Name the state where Tarapur nuclear power plant is located.

(37.6) Name the state where Haldia sea port is located.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination,2023
SUBJECT NAME SOCIAL SCIENCE (SUBJECT CODE J3265A)
(PAPER CODE 32/2/3)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could lead
to derailment of the examination system and affect the life and future of millions of candidates. Sharing
this policy/document to anyone, publishing in any magazine and printing in News Paper/Website etc
may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according to
one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating, answers which are based on latest information or
knowledge and/or are innovative, they may be assessed for their correctness otherwise and due marks
be awarded to them. In class-X, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, the due marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day, to
ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is any
variation, the same should be zero after delibration and discussion. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

6 Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X’ be marked. Evaluators will
not put right (v') while evaluating which gives an impression that answer is correct and no marks are awarded.
This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different
parts of the question should then be totaled up and written in the left-hand margin and encircled. This may be
followed strictly.
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may
also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks should be retained
and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has to be
used. Please do not hesitate to award full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and evaluate
20 answer books per day in main subjects and 25 answer books per day in other subjects (Details are given in
Spot Guidelines).This is in view of the reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and
clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
° Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross (X)
and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the candidate
shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board. Hence, in
order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed meticulously
and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot Evaluation”
before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that they
must ensure that evaluation is carried out strictly as per value points for each answer as given in the Marking
Scheme.
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Marking Scheme--32/2/3 ( 2022-2023)

Social Science (087) MM-80
Q.NO
VALUE POINTS
Section — A 1X20=20
(Multiple Choice Questions)
1 (a) 1-3,ii-1, iii-4 ,iv-2 1
Pg.16
2 (b)  United States of America 1
Pg.25
3 (a) Both (A) and ( R) are true but ( R) is the correct explanation of (A ) 1
Pg.65
4 (a) 1-4,ii-3,1ii-2,iv-1 Pg.85 |1
5 (b)  Both (A) and (R) are true but (R) is not the correct explanation of (A). 1
Pg.65
6 (d) Laterite Pg.10 |1
7 (b) Lakshminath Bezbaruh Pg-126 1
For Visualy Impaired Students
(c) Jyotiba Phule Pg.126 1
8 (a) United States of America (USA) Pg.70 1
9 (a) Germany, Austria- Hungry and Ottoman Turkey 1
Pg.68
10 (b) Conservatism Pg.10 1
11 (d) Disproportionate Growth Pg.70 1
12 (d) Rich Households Pg.49 1
13 (a) Paper Notes Pg.40 1
14 (d) There are rules and regulations but not followed Pg.30 1
15 (b) Secondary Product Pg.08 1
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16 (d) Sri Lanka Pg.13

17 (b) Income Pg.08 1

18 (b) India Pg.77 1

19 (c) Odisha Pg.82 1

20 (a) Nordic Country Pg.44 1
Section -B 4x2=8

(Very Short Answer Questions)

21 (A) Analyse the role of Chief Minister Cavour who led the movement to 2x1=2
unite the regions of Italy.

(i)  Chief Minister Cavour who led the movement to unify the regions of Italy
was neither a revolutionary nor a democrat.

(ii) Like many other wealthy and educated members of the Italian elite, he spoke
French much better that he did Italian.

(iii) Through a tactful diplomatic alliance with France engineered by Cavour,
Sardania — Piedmont succeeded in defeating the Austrian forces in 1859.

(iv) Any other point.

(v) To be assessed as a whole. Pg.21
OR
(B) Examine the ideas of liberal nationalism in Europe during nineteenth
century.
(i) For the new middle classes liberalism stood for the freedom for the 2x1=2

individual and equality of all before law.
(ii) Politically it emphasised the government by consent.
(iii) Liberals also stressed the inviolability of private property.

(iv) In the economic sphere, liberalism stood for the freedom of market and
abolition of state imposed restrictions on the movement of goods and
capital.

(v) Any other relevant point

Any two points to be explained. (Pg21)
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22 Differentiate between reserved and protected forests in India. 2x1=2

Reserved forest :

(1) More than half of the total forest land has been declared reserved forest.

(i1) Reserved forests are regarded as the most valuable as far as the conservation
of forest is concerned.

(ii1))  Any other relevant point

Protected forests:

(1) Almost one-third of the total forest area is protected forest.

(i1) This forest land is protected from any further depletion.

(iii))  Any other relevant point. Pg.20
23 Why did the feeling of alienation increase among the Sri Lankan Tamils in 2x1=2
1956? Explain.

i.  In 1956 an act was passed to recognise Sinhala as the only official
language thus disregarding Tamil.
ii. The governments followed preferential policies for university positions
and government jobs for Sinhalese.
jii. The new constitution stipulated that the State shall protect and foster
Buddhism.
iv. Sinhala government ignored the interests of Tamils through their
majoritarian policies.
\A Any other relevant point.

Any two points to be explained. Pg.3

24 . . . 2X1=2
How does the use of money make it easier to exchange things? Explain

with examples.

(1) Money acts as an intermediate in the exchange process.

(1)) Money is also authorised by the government of the country. And no
one can refuse it in the settling of transaction in India.

(ii1) No individuals or organistaion is allowed to issue currency except the
authorised authority. Example- RBI in India.

(iv) Money by providing the crucial intermediate step, eliminates the need
for double coincidence of wants.

(v) Any other examples can also be considered.

Any two points to be explained
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Pg. 40

Section —-C 5x3=15
(Short Answer Questions)

25 How did print come into existence in Europe? Explain. 3x1=3
(i)  Inthe eleventh century, Chinese paper reached Europe via the same
route.
(ii)  Paper made possible the production of manuscripts, carefully written
by scribes.

(iii) Marco polo took away and spread the technology to Europe.

(iv) Italians began producing books with woodblocks, and soon the
technology spread to other parts of Europe.

(v) Merchants and students in the university town bought the cheaper
printed copies.

(vi) Book fairs were held in different places.

(vii) The break through occurred when Johann Gutenberg developed the
first printing press.

(viii) Any other relevant point

(vi) Any three points to be examined. Pg. 108
OR
(b)How did access to books create a new culture of reading? Explain.

3x1=3

(i)  Earlier reading was restricted to the elites. Common people lived in
a world of oral culture. They heard sacred texts read out, ballads
recited, and folk tales narrated.

(ii)  With the printing press, a new reading public emerged.

(iii)  Printing reduced the cost of books. Multiple copies produced with
greater ease.

(iv) Books flooded the market, reaching out to an ever-growing
readership.

(v) Now books could reach out to wider sections of people.

(vi) People started writing and publishing popular ballads and folk tales
and were illustrated with pictures.

(vii) Any other relevant point
Any three points to be examine. Pg.111
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26 Explain any three characteristics of ‘Drug — Bastar- Chandrapur iron-ore belt | 3x1=3
in India.
Durg-Bastar-Chandrapur belt:

(i)  This belt lies in Chhattisgarh and Maharashtra.

(ii)  Very high-grade hematites are found in the famous Bailadila range of
hills in the Bastar district of Chhattisgarh.

(iii) The range of hills comprises 14 deposits of super high-grade hematite

iron ore.
(iv) It has the best physical properties needed for steel making.
(v)  Any other relevant points

Any three points to be explained.
(Pg No. 51)

27 Explain any three constitutional provisions that make India a secular state. 3x1=3

(1) There is no official religion for the Indian state.

(i1) The constitutional provides to all individuals and communities freedom to
profess, practice and propagate any religion.

(i11))  The constitutional prohibits discrimination on the basis of religion.

(iv)  Any other relevant points.

Any three points to be explained. Pg.53
28 . . . . 3x1=3
How can more employment be generated in India? Explain with
examples.

(1) Promote and locate industries and services in semi-rural areas.
(i1)) Promote tourism.

(ii1) Through development and promotion of regional craft.

(iv) Development and promotion of IT sector.
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(v) Promote infrastructural development.
(vi) Any other point
Any three points to be explained. Pg. 29

29 Examine the rising importance of the tertiary sector in India. 3x1=3

(i) The tertiary sector provides basic services like public transportation,
medical care, electricity, banking, post office, etc

(ii) This sector creates employment even for uneducated and unskilled
workers.

(iii) The development of agriculture and industry leads to the development
of services such as transport trade etc.

(iv) As income levels rise the demand of tertiary sector also get enhanced.

(v) Over the past decade or so certain new services such as those based on
information technology have become important and essential.

(vi) Any other relevant point.
Any three points to be explained. Pg.25

Section -D 4x5=20
( Long Answer Questions)

30 . . . 5X1=5
(a)*Plantation workers had their own understanding of Mahatma

Gandhi and the notion of Swaraj.” Support the statement.

(i) For plantation workers in Assam, freedom meant the right to move
freely in and out of the confined space in which they were enclosed.

(i1) Plantation workers defied the Inland Immigration Act.
(ii1) They interpreted Swaraj in their own ways.

(iv) They also related themselves with Swatantra Bharat and started
relating them with all India agitation.

(v) They believed that Gandhi Raj was coming and everyone would be
given land in their own village.

(vi) Stranded on the way by a railway and steamers strike plantation
workers were caught up by the police and were brutally beaten up. Any
other point

Any five points to be explained.
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OR

(b) “Mahatma Gandhi found salt as powerful symbol that could unite the
nation.” Support the statement.

(i) Salt was something consumed by the rich and the poor alike.
(ii) It was one of the most essential items of food.

(iii) The tax on salt and the government monopoly over its production revealed
the most oppressive face of British rule.

(iv) Irwin was unwilling to negotiate.

(v) So Mahatma Gandhi started his famous Salt March accompanied by his
trusted volunteers from Sabarmati to Dandi.

(vi) Thousands came to hear Mahatma Gandhi views on Satyagraha and
Swara;.

(vii) Mahatma Gandhi urged people to peacefully defy the British.

(viii) At Dandi, he along-with followers defied the law, manufactured salt
by boiling sea water.

(ix) This marked the beginning of the Civil Disobedience Movement.

(X) Any other relevant points.

Any Five points to be explained.

31 (A) ‘Analyse the conditions under which democracies accommodate social | 5X1=5
diversities.

(i) Democracies accommodates social diversities:
(ii) Democracies lead to peaceful and harmonious life among citizens.

(iii) Democracies have successfully negotiated differences among ethnic
populations.

(iv) Democracy develops a mechanism to negotiate the differences.
(v) Majority to work with minority

(vi) Democracies are best suited to produce outcome.

(vii) Democracy develops a procedure to conduct competition

(viii) A Democracy has the ability to handle social differences, divisions and
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conflicts.

(ix) Equal treatment of women is a necessary ingredients of a democratic
society.

(x) Democracy has strengthened the claims of disadvantaged.
(xi) Any other relevant point.
Any five points to be explained.
Pg. 96
OR

(B) “Analyse the conditions under which democracies promote dignity and
freedom of citizens.

(i) Every individual wants to receive respect from fellow beings.
(ii) The passion for respect and freedom are the basis of democracy.

(iii) Democracies throughout the world have recognised dignity and
freedom in principle. 5X1=5

(iv) Dignity and freedom of the citizens have been achieved in various
degrees.

(v) Equal treatment of women are necessary ingredients of a democratic
society.

(vi) Democracy has strengthened the claims of disadvantaged.
(vii) People have developed awareness and the ability to look critically

(viii) Any other relevant point

Any five points to be explained.Pg.92

32 (A) Explain the features of primitive subsistence and commercial farming in
India.

Primitive Subsistence Farming:
(i) This type of farming is still practised in few pockets of India.

(ii) Primitive subsistence farming practised on small patches of land.

(iii) Use primitive tools like Hoe, Dao and digging sticks.

(iv) This type of farming depends upon monsoon, natural fertility of soil
and suitability of essential condition to crops grown.

(v) Itis a slash and burn agriculture.
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(vi) Any other relevant Points.
Any two relevant Points. 2x1=2

Commercial farming:

(i) The main characteristics of this type of farming is the use of higher
doses of modern inputs e.g., HY'V seeds, Chemical fertilizers
insecticides and pesticides.

(ii) It obtains higher productivity.

(iii) The degree of commercialisation of agriculture varies from one region
to another.

(iv) Plantation is also a type of Commercial farming.
(v) Example : Rice is a commercial crop in Haryana but in Odisha, it is a
subsistence crops.

(vi) Any other relevant point
Any three points to be explained from each part. 3x1=3
Pg.no30-31
OR

(B) Explain the features of intensive subsistence and plantation
farming in India.

Intensive Subsistence Farming:
(i) This type of farming is practised in areas of high population pressure

on land.
(ii) Itis labour-intensive farming
(iii) High doses of biochemical inputs
(iv) Irrigation is used for obtaining higher production.

(v) Any other relevant point.

Any two points to be explained. (2x1=2)

Plantation Farming:

i. Itisatype of commercial farming.
ii. In this type of farming a single crop is grown.
iii. The plantation has an interface of agriculture and industry.

iv. Plantations cover large tracts of land intensive imports with help of
migrant labours.
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v. Any other relevant point.

Any three points to be explained. Pg.35
(3x1=3)
33 (a)Analyze the impact of globalization in India. 5x1=5

(1))MNCs have increased their investments in India such as cell
phones, automobiles, electronics, soft drinks, etc.

(i1))New jobs have been created.

(iii)Local companies supplying raw materials, etc. to these
industries have prospered.

(iv)Several of the top Indian companies have been able to
benefit from the increased competition. 5x1=5

(v)They have invested in newer technology and production
methods and raised their production standards. Some have
gained from successful collaborations with foreign companies.

(vi)Globalization has enabled some large Indian companies to
emerge as multinationals themselves, Tata Motors
(automobiles), Infosys (IT), Ranbaxy (medicines), Asian Paints
(paints), Sundaram Fasteners

(vii)Globalization has created new opportunities for companies
providing services, particularly those involving IT.

NEGATIVE-

(viii)Batteries, capacitors, plastics, toys, tyres, dairy products,
and vegetable oil are some examples of industries where the
small manufacturers have been hit hard due to competition.

(ix)Several of the units have shut down rendering many workers
jobless.

(ix) Uncertain Employment; ‘workers’ jobs are no longer
secure.

(x)Pressure of competition has substantially changed the lives
of workers.

(xi1)Any other relevant point
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Any five points to be explained.

OR

(b) Analyze any five steps for ensuring fair globalization in India.

(1)Fair globalisation would create opportunities for all, and
ensure that the benefits of globalisation are shared better.

(11)The government’s policies must protect the interests, not
only of the rich and the powerful, but all the people in the
country

(iii)Labour laws must be properly implemented and the workers
must get their rights.

(iv)The government can support small producers to improve
their performance till the time they become strong enough to
compete.

(v)If necessary, the government can use trade and investment
barriers.

(vi)It can negotiate at the WTO for ‘fairer rules’.

(vi1)It can also align with other developing countries with
similar interests to fight against the domination of developed
countries in the WTO.

(viii)In the past few years, massive campaigns and
representation by people’s organisation have influenced
important decisions relating to trade and investments at the
WTO.

(ix)Any other relevant point
Any five points to be explained.

Section —-E 3x4=12
( Case Based/Source Questions)

34 Read the given source and answer the questions that follow:
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34.1Name the movement against the river project in Gujarat.
Narmada BachaoAndolan

34.2 How have the big dams mostly been unsuccessful in controlling floods at
the time of excessive rainfall?

(i)Because big dams release of water from dams during heavy rains aggraved the
flood situation.

(i1)Any other relevant points.

34.3 Analyse any two merits of multi-purpose river projects.
(1) Generation of electricity

(i1) Canal for irrigation

(ii1))  Soil conservation in nearby areas

(iv)  Any other relevant points

Any two points to be explained PG-23

35 Read the given source and answer the questions that follow 1

35.1 Why did Manchester imports decline in India?
Because British mills were busy with war production to meet the needs of army.
Any other relevant points.

35.2 Why could Manchester never recapture its old position in the Indian
market after the First World War?

Because unable to modernise and complete with United State of America, Germany
and Japan.

Any other relevant points.

35.3 Analyse any two benefits of the First World War to India. 2
(1) Decline of import of British goods.

(i1) Indian companies now in good condition to product things.
(ii1))  Any other relevant points.

Any two points to be explained

36 Read the given source and answer the questions that follow: Pol Sc.

36.1 | 36.1 Explain the meaning of a ‘political party.’ 1
A political party is a group of people who come together to contest election and hold
power in the government.

36.2 “The rise of political parties is directly linked to the emergence of
representative democracies.” Support the statement. 1
(i)Large Societies need representative democracy

(ii)Political parties give platform to elect representatives and representatives formed
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the government.
(i11))Any other relevant points
Any One Point

36.3 Why are political parties a necessary condition for a democracy? Explain.
1. Political parties bring various representatives together so that a responsible
government could be formed.
ii.  They work as a mechanism to support or restrain the government, make 2
policies, justify or oppose them.
iii.  Political parties fulfil the needs that every representative government has.
iv.  Any other relevant points
Any two Points . PG-47
Section F 2+3=5
Map Skill Based Question

37 Two places A and B have been marked on the given outline map of India.
Identify them and write their correct names on the lines drawn near them.

37 (a) and (b) —- SEE ATTACHED MAP.

37.a-i  Nagpur
ii- Amritsar (2)

37.b-i Noida ( UP)
ii-Chattisgarh
iii- Maharashtra
iv- Haldia (3) ANY THREE
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The following questions are for Visually Impaired Candidates only in
lieu of Q. No. 37.
Attempt any five questions.

371 1
Name the place where the session of Indian National Congress was held in

December 1920.
Nagpur




37.2 1
Name the place where the Jallianwala Bagh incident occurred.
Amritsar

37.3 . : o 1
Name any one major coffee producing state in India.
Karnataka

37.4 Lo o 1
Name the State where Bailadila iron ore minesis located.
Chhattisgarh

37.5 . 1
Name the State where Tarapur nuclear power plant is located.
Maharashtra

37.6 . . 1
Name the State where Haldia ‘Sea port’ is located.
West Bengal
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